6C1 Corrigé du devoir de mathématiques lll,1

17.05.04

Exercice 1
(1) (5a® —116? ) = 25a" — 110a%° + 1216°
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= —ng — 2y + 72 + 22y + 3Y° —3yz—gxz—gyz+gz2

2, 2 , 11 5
= 3x + zy 3xz+3y 2yz+2z
(4) (1-3z)* —2(4z —1)(z +2)
=1—6z + 92” — 2(42” + 8z — z — 2)
=1—6x+ 92> — 82> — 167 + 2r + 4
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Exercice 2

(1) 242%)3 (x —2y) — 402%9> (Tz + 4y)
= 822 [3y(z — 2y) — Bz (T + 4y)]
= 827> (3xy — 6y% — 3522 — 20xy)
= 827> (—17xy — 6y — 35362)
= —8z%y? (17xy + 6y° + 35x2)

(2) (4a—8b)(a—0b)—(2a —b)(10a — 20b)
=4(a—2b)(a—b)—10(2a —b)(a —2b)
=(a—20)[4(a—0b)—10(2a — )]
= (a—2b)[4a — 4b — 20a + 100 ]
= (a—2b)(—16a + 6b)
=2(a—2b)(—8a+ 3b)

(3) (a—b)(z—1)—(b—a)(32+5H)
=(a—b)(z—1)+(a—0)(32+5)
=(a—0)[(z—1)4+ (32 +5)]
=(a—0)(42+4)
=4(a—0b)(z+1)
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(6) 20+ay-z+30=-2(-a-2+i-3

Exercice 3
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< 2lz —18x —72+14 =0
< 3r—58=0
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@) $($+2)—3x(x—4):—6x(§—1)+24

o 2?2+ 20— 3% +122 = —222 + 62+ 24

& 277 + 14z = =277 + 6z + 24
& 14z = 61 + 24

& 14z — 62 = 24

& 8xr =24

S =3

S ={3}
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